10_9 7

— — - — — — . Zn = 1201
g = o Ko = 4-1t-10 T := .00000008 Ew = 9 Ry = 1Ey:=1 0

2T e
o= T BO = CO'\/MW'M()'SW'SO B] = B() BZ = m-\/MW-MO-SW'SO XO =2

B (2,0 = EO.[ej(oo-t—Bl-z) B %ej(oo-wﬁl-z)}

j| o0 t=Pyz . 1
En(z,1) = %Eoej(wt B2 ) Ero(z,1) = 1f[z < O,O,E-EO-(cos(co-t— Bzz))}

E(z,t) := if(z< 0,

El(Z,t)

Ez(Z,t)|)

b

Ejp(z.0) = if (2 < 0,cos(@-t = B 2) ,Epc(z,0)

E = if 0 ! E
1o(z,t) :=1if|z< 0, —E-cos(co-t+[31-z) Erc(z,0)

1
Ei.(z.0) = if[z < O,(cos(co-t - [31-2) + —E-cos(u)-t + [31-2)) ,Ezc(z,t)}
z:=-10,-99..10

WSp Wyk = 100 wsp_wyk - wspétczynnik skalujacy pozwalajacy wyrysowaé E i H na 1 wykresie
. Eq f(otByz) 1 j(eowpiz)]| [Eo 3 j(otpy7)
H(z,t) =1if| z< 0, |=—wsp_wyk:| ¢ +—=-e , | =—wsp_wyk:| —-e
Zo 2 Zo 2

Hp(z,t) =if| z< O,E-wsp wyk-(cos(co-t - |31'Z) + l-cos((x)-t + Bl-z)) ,E-Wsp wyk-(é-cos(co-t + [32-2))
77 2 Zo 7 \2



E[.(0,0) = 0.5

Ejo(-29.0) =05
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